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[Question ID = 1257][Question Description = 155_37_Gujarati_SEPT22_Q55]
1. (&) D) (E) =

[Option ID = 5025]
2. (B)(C) (E) =

[Option ID = 5026]
3.0 (A) (B HIA

[Option ID = 5027]
4. (C) (D) (E) ==

[Option ID = 5028]
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[Question ID = 1258][Question Description = 156_37_Gujarati_SEPT22_Q56]
1 (A)(B) D) W

[Option ID = 5029]
2. (B)(C) (D) HA

[Option ID = 5030]
3 (O M) (&) A

[Option ID = 5031]
4, (A) (C) (E) HiA

[Option ID = 5032]
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[Question ID = 1259][Question Description = 157_37_Gujarati_SEPT22_Q57]
1. (A)(B) Dy =

[Option ID = 5033]
2. (B)(C) (E) 4

[Option ID = 5034]
3. (C) (D) (B) Hi>

[Option ID = 5035]
4. (A) D) (E) 4

[Option ID = 5036]
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[Question ID = 1260][Question Description = 158_37_Gujarati_SEPT22_Q58]
@) ®) () M

[Option ID = 5037]
2. B (C) (D) Hiy

[Option ID = 5038]
3. (A)(C) (E) Hi2l

[Option ID = 5039]
4. (C) (D) (E) ™A

[Option ID = 5040]
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[Question ID = 1261][Question Description = 159_37_Gujarati_SEPT22_Q59]
1. (C) @) (E)==

[Option ID = 5041]
2. (B) (D) (E) =i

[Option ID = 5042]
3. (A) M) (E) Y

[Option ID = 5043]
4. (A) (B)(Cy M3l

[Option ID = 5044]
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[Question ID = 1262][Question Description = 160_37_Gujarati_SEPT22_Q60]
1. (A)(C) (D) 1

[Option ID = 5045]
2. Dy =i

[Option ID = 5046]
3. (B) (D) (E) HiIx

[Option ID = 5047]
4. (B) (E) i

[Option ID = 5048]
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[Question ID = 1263][Question Description = 161_37_Gujarati_SEPT22_Q61]
1. (A) (B) (C) HiA

[Option ID = 5049]
2. (B)(D) (E)

[Option ID = 5050]
3. (A) (C) (E) M=t

[Option ID = 5051]
4 (C) (D) (B) WA

[Option ID = 5052]
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[Question ID = 1264][Question Description = 162_37_Gujarati_SEPT22_Q62]
T (®) Hin

[Option ID = 5053]
2. (B)(C) (E) =

[Option ID = 5054]
3. (4) (B) (C) Mt

[Option ID = 5055]
4 (C) D) (E) X~

[Option ID = 5056]
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[Question ID = 1265][Question Description = 163_37_Gujarati_SEPT22_Q63]
1. (B (D) (E) HA

[Option ID = 5057]
2. (C) (D) (E) 2

[Option ID = 5058]
3. (A (C) (B) -~

[Option ID = 5059]
4. (&) (B) (C)H

[Option ID = 5060]
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[Question ID = 1266][Question Description = 164_37_Gujarati_SEPT22_Q64]
1. (A)®) (C) 1

[Option ID = 5061]
2 (&) (B) HA

[Option ID = 5062]
3. (O)/(D) E) HA

[Option ID = 5063]
4. (B) (C) (E) 4

[Option ID = 5064]
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[Question ID = 1267][Question Description = 165_37_Gujarati_SEPT22_Q65]
1. (B) (D) HI™

[Option ID = 5065]
2. (C) (D) (E) ¥

[Option ID = 5066]
3. (A)(By (C) M

[Option ID = 5067]
4. (B) (E) 4=

[Option ID = 5068]
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[Question ID = 1268][Question Description = 166_37_Gujarati_SEPT22_Q66]
1. (A, B)-ID, (C)-{III), D)-IV)

[Option ID = 5069]

2. (A)(IV), (B)-(II), (C)-(T), (D)-(I1T)
[Option ID = 5070]

3+ (A)IV), (B)-(IIL), (C)-I). (D)-(I)

[Option ID = 5071]
4. (A)-(D), (B)-(IV), (C)-(II), (D}-(I11)

[Option ID = 5072]
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[Question ID = 1269][Question Description = 167_37_Gujarati_SEPT22_Q67]
1. (A)-I0), (B)-(D), (C)-IV), (D)-11T)

[Option ID = 5073]
2. (A)(ID), (B)-(TID), (C)=(TV), (D)-(T)

[Option ID = 5074]
3 (A)-ID), (B)-(IV), (C)-), (D)-I1I)

[Option ID = 5075]
4. (A)-(), (B)-@), (C)- (ILI), D)-(IV),

[Option ID = 5076]
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[Question ID = 1270][Question Description = 168_37_Gujarati_SEPT22_Q68]
1. (A)-I). (B)-(IV). (O)-11). {D)-T)



[Option ID = 5077]
2. (A)-IID), (B)-(ID), (Cy-(T). D)-(IV)

[Option ID = 5078]
3. (A)(IID), (B)-(D). (C)-(IT), MD)-(IV)

[Option ID = 5079]
4 (A)(IID), (B)-(IV). (C)-(I). (D)-(T)

[Option ID = 5080]
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[Question ID = 1271][Question Description = 169_37_Gujarati_SEPT22_Q69]
- (AN, (B)-IV), (C)-(1D), (D)D)

[Option ID = 5081]
2. (A)(D), (B)-(IT), (C)-(I1D), (D)-(IV)

[Option ID = 5082]
3+ (A)D, (BY-(ID), (CH(ID), M)-(IV)

[Option ID = 5083]
4 (A)-(D), (B)-AD), (C)-(IV), (D)-(I1)

[Option ID = 5084]
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[Question ID = 1272][Question Description = 170_37_Gujarati_SEPT22_Q70]
1+ (A)(IV), BI-IID). (C)-(IT), D)-(I)

[Option ID = 5085]
2. (A)-(IV), (B)-(I), (CO)-(II), (D)-(T1I)

[Option ID = 5086]

3. (A)-IV), (B)-(ID), (C)-(D), (D)-I)
[Option ID = 5087]

4 (A)-IV). (B)-(I1), (CH-{IID), (D)-T)

[Option ID = 5088]
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[Question ID = 1273][Question Description = 171_37_Gujarati_SEPT22_Q71]
1. (AID), By-(IID), (C)-(D), (D)-(IV)

[Option ID = 5089]
2. (A)II), (B)«IV), (C)-(III), D)-(T)

[Option ID = 5090]
3. (A)-(ID), (B)-(I), (C)-IV), (D)<(TIT)

[Option ID = 5091]
4 (A)-(ID), (B)-IV), (C)(1), (D)-(I1T)
[Option ID = 5092]
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[Question ID = 1274][Question Description = 172_37_Gujarati_SEPT22_Q72]
1 (A)-(I), (B)-(ID), (C)-(IID), (D)-(IV)

[Option ID = 5093]
2. (A)-I), (BI-(IV), (C)-(II), (D)-(IIT)

[Option ID = 5094]
3. (A, (BY-(IID, (Cy-(11). D)-(TV)

[Option ID = 5095]
4. (A)I), (B)-(IV), (C)-(III). (D)-ID

[Option ID = 5096]
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[Question ID = 1275][Question Description = 173_37_Gujarati_SEPT22_Q73]
1. (A)-I), B)-(I), (C)-(II), D)-AV)

[Option ID = 5097]



2. (A)(II), (B)(D), (C)-(IV), (DI-(I1I)

[Option ID = 5098]
3. (A)-(ID), (B)«(IID), (C)-(IV), (D)-(I)

[Option ID = 5099]
4. (AMD), B)-(IV), (C-(I), D)-(1II)

[Option ID = 5100]
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[Question ID = 1276][Question Description = 174_37_Gujarati_SEPT22_Q74]
1. (A)-{D), (B)IID), (C)-(T). D)-{TV)

[Option ID = 5101]
2. (A)-(IT), (B)-(IV), (C)~(III). (D)-(I)

[Option ID = 5102]
3 (A)(ID), (B)-@), (C)(III), (D)-(IV)

[Option ID = 5103]
4. (A)-(I0), (B)-(IID), (C)-(TV), (D)-(T)

[Option ID = 5104]
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[Question ID = 1277][Question Description = 175_37_Gujarati_SEPT22_Q75]
1. (A)(I), (B)-(D), (Cy-(II), (D)-(IV)

[Option ID = 5105]
2. (AMIID, (B)-(IV), (C-(I), (D)-(1D)

[Option ID = 5106]
3. (A)-(III), (By-(I1), (C)-(I). (D)-(IV)

[Option ID = 5107]
4 (A)-(I1I), (B)-(IV), (O)-(II), (D)-(D)

[Option ID = 5108]
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[Question ID = 1278][Question Description = 176_37_Gujarati_SEPT22_Q76]
1. (C). (D), (E). (A). (B)

[Option ID = 5109]
2. (A), (B). (C). (D). (E)

[Option ID = 5110]
3. (A), (C). (B), (E), (D)

[Option ID = 5111]
4. (A), (E). @) (C), B

[Option ID = 5112]
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[Question ID = 1279][Question Description = 177_37_Gujarati_SEPT22_Q77]
1. (A), B) (C), M), (E)

[Option ID = 5113]
2. (E), (D, (C), (B (A)

[Option ID = 5114]
3. (B), D), (B), (C), (A)

[Option ID = 5115]
4. (B, (E), (C), (D), (&)

[Option ID = 5116]
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[Question ID = 1280][Question Description = 178_37_Gujarati_SEPT22_Q78]
1. (A), (B) (C), (D). (E)

[Option ID = 5117]
2. (B), D), (C), (B). (A)

[Option ID = 5118]
3. (E). (A). (B). (C), (D)

[Option ID = 5119]
4. (E), D), (4), (B). (©)

[Option ID = 5120]
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[Question ID = 1281][Question Description = 179_37_Gujarati_SEPT22_Q79]
1. (A), (E) (D), (B) (C)

[Option ID = 5121]
2. (A), (C), (D), (B, (B)

[Option ID = 5122]
3. (A), (E). (B), (C), (D)

[Option ID = 5123]
4. (4), (B), (C), D), (E)

[Option ID = 5124]
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[Question ID = 1282][Question Description = 180_37_Gujarati_SEPT22_Q80]
. @), (E)(4) (C). @

[Option ID = 5125]
2. (B), (C),(D), (E), (A)

[Option ID = 5126]
3. (B). (A)(C), (D), (E)

[Option ID = 5127]
4. (By, (D), (C), (E)(&)

[Option ID = 5128]
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[Question ID = 1283][Question Description = 181_37_Gujarati_SEPT22_Q81]
1. (D)L(A)B)LE)LC)

[Option ID = 5129]
2. (C),(B),(A),(E),D)

[Option ID = 5130]
3. (). (D)E)LA)LE)

[Option ID = 5131]
4. (C),(E),(A),(D)(E)

[Option ID = 5132]
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[Question ID = 1284][Question Description = 182_37_Gujarati_SEPT22_Q82]
1. (D)LE).EB)LCLA

[Option ID = 5133]
2. M),(CLBLALE)

[Option ID = 5134]
3. (D)(BLELALC

[Option ID = 5135]
4. (M,(C),(A).(BIL(E)

[Option ID = 5136]
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[Question ID = 1285][Question Description = 183_37_Gujarati_SEPT22_Q83]
1. (E),(C).(D),(B).(A)

[Option ID = 5137]
2. (E)(B),(C).(D).(A)

[Option ID = 5138]
3. (E)(A)E)L(O)L.D

[Option ID = 5139]
4. (E),(D),(C)LB)LA)

[Option ID = 5140]
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[Question ID = 1286][Question Description = 184_37_Gujarati_SEPT22_Q84]
1 (A),(E).B).(C).(D)

[Option ID = 5141]
2. (A).(D)L(E)LBLIC)

[Option ID = 5142]
30 (A)LBYLIC)L.MDE

[Option ID = 5143]
4. (A)(C)LD),(ELB)

[Option ID = 5144]
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[Question ID = 1287][Question Description = 185_37_Gujarati_SEPT22_Q85]
1. (B),(C).MD),(E)LA)

[Option ID = 5145]
2. (B),(D),(E),(A),(C)

[Option ID = 5146]
3. (B),(AL(C),(E)(D)

[Option ID = 5147]
4. (B)(E)(A)(C),(D)

[Option ID = 5148]
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[Question ID = 1288][Question Description = 186_37_Gujarati_SEPT22_Q86]
1. ()6t (R) viot [Renicll 2= & via )y A (4) off oz 2mydl 8.

[Option ID = 5149]
2. (a) vt ®) <ol [Bec 2 &y @) B (A) o Do 2 o,

[Option ID = 5150]
3. (a) 243 B uel gy g 8.

[Option ID = 5151]
4. (A) b?lj‘, 2 ual ®) E-IIEI .

[Option ID = 5152]
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[Question ID = 1289][Question Description = 187_37_Gujarati_SEPT22_Q87]
1. (4) wial Ry ciol Qenall 2020 & w181 (B) 242 (A) ¥ Bl dloa 2naydl 8.

[Option ID =5153]
2. () w61 (R) vict Renicl A1z 8 uel ®) B (4) ofl Doz 2l o2l

[Option ID = 5154]
3 (a)y=y & uel @) g 8

[Option ID = 5155]
4. AWz B e (R) 213 8,

[Option ID = 5156]
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[Question ID = 1290][Question Description = 188_37_Gujarati_SEPT22_Q88]
1. [Qenat 1 2wa Reie 11 wid [Qenall 2020 8.

[Option ID = 5157]

2. [Qenot T vial [Qeilel 11 cict [@eiel Hiai B,
[(_)ption ID = 5158] _

3. [Qepof 1 2403 & uel [Qene 17 WE 8.
[Option ID = 5159]

4. [deiet 1vllg &y Qe 11209 8.



[Option ID = 5160]
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[Question ID = 1291][Question Description = 189_37_Gujarati_SEPT22_Q89]
1. [Qeio 1 e Reia 17 ¢id Rend 2021 8.

[Option ID = 5161]
2. [Qeief w0 Qener 7 vist Qe wai &.

[Option ID = 5162]
3. (Beiel 1 203 & vl [Qeiler 71 Vg 8.

[Option ID = 5163]
4. [Qeie 1 vIZ B ue) Reuot 17 203 B.

[Option ID = 5164]
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[Question ID = 1292][Question Description = 190_37_Gujarati_SEPT22_Q90]
1. [Qeiot 16 Reio 11 6id Reiall 24020 8.

[Option ID = 5165]
2. [Qeiot T 20} [Qeniat 11 vict Qe Wizl 8.

[Option ID = 5166]
3. Rgiet 1 23y & ue Qeier 1 Wil 8.

[Option ID = 5167]
4. [Agio 1 VI By Reiot 11 213 B

[Option ID = 5168]
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[Question ID = 1293][Question Description = 191_37_Gujarati_SEPT22_Q91]
1. wif@s

[Option ID = 5169]
2. gous|

[Option ID = 5170]
3. 3yfgel

[Option ID = 5171]
4. %E,E,II

[Option ID = 5172]
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Yus—uilal Yed] Gur Boid da,
e ys) a2 [RaRaed cat
elasl atiefl aciusl g e ofl2,
918 Hati—atiag] 2udl 20l
uied U@ wgE ol cRug onl,

CIC MR, 201 s e |

18 Ao—otiag] 2ud] S 2ndk i — v S wdsr wend).

[Question ID = 1294][Question Description = 192_37_Gujarati_SEPT22_Q92]
T Gy

[Option ID = 5173]

2. geleeie

[Option ID = 5174]
3. weidsr

[thion ID = 5175]
4. Deig

[Option ID = 5176]



3) &g sica qizll Bl ofl2 2ide uglen e Rsey exffd) -
gl Gad) DRl 3 2w 2nddl] €y
el oflsoz] wete] wenef] il sl ¢
wlBiz Uividl weyaionel B,
Uddl e uindl Aa@an Rial
D A e allhd onseil HE ool
55 Sial| Al 2l T 2R |
g aly Asd off aidld oz,

B 2 ojedl] 3uosy €y vl
Yus—uilal Yed] Gur Boid da,
e ys) a2 [RaRaed cat
elasl atiefl aciusl g e ofl2,
918 Hati—atiag] 2udl 20l
uied U@ wgE ol cRug onl,
EBICH 1R, 201 2HE) e |

| sieRioll S F120d) |

[Question ID = 1295][Question Description = 193_37_Gujarati_SEPT22_Q93]
1. wiopgu

[Option ID = 5177]
2. Gy

[Option ID = 5178]
3. gRellg

[Option ID = 5179]
4 Bl

[Option ID = 5180]



4) ol A5 sica aizll Rafl 1D 2106 glen Aoz Rsey exfd) -
gl Gad) DRl 3 2w 2nddl] €y
Al oflsoe] yeio] wienaf] e sy
wlBiz Uividl weyaionel B,
Uddl e uindl Aa@an Rial
D A e allhd onseil HE ool
55 Sial| Al 2l T 2R |
g aly Asd off aidld oz,

B 2 ojedl] 3uosy €y vl
Yus—uilal Yed] Gur Boid da,
e ys) a2 [RaRaed cat
elas] ofiell ceiusl g2 el ofl2,
918 Hati—atiag] 2udl 20l
uied U@ wgE ol cRug onl,

CIC MR, 201 s e |

| sieay) S22 wduiE) 87
[Question ID = 1296][Question Description = 194_37_Gujarati_SEPT22_Q94]
1. uc:sin

[Option ID = 5181]
2. af3

[Option ID = 5182]
3. e

[Option ID = 5183]
4. yEalBal

[Option ID = 5184]



5) &Ry sica qizll Bl ofl2 2ide uglen e Rsey exfd) -
gl Gad) DRl 3 2w 2nddl] €y
Al oflsoe] yeio] wienaf] e sy
wlBiz Uividl weyaionel B,
Uddl e uindl Aa@an Rial
D A e allhd onseil HE ool
55 Sial| Al 2l T 2R |
g aly Asd off aidld oz,
Dalasug oiesl] 3em ehy wielh:
Yus—uilal Yed] Gur Boid da,
e ys) a2 [RaRaed cat
elas] ofiell ceiusl g2 el ofl2,
918 Hati—atiag] 2udl 20l
uied U@ wgE ol cRug onl,
eIl MR, 2A0ER 248 el |

Hris—2ilst Yed] Grr Bid da,

5%61 ugl ey 2 Bl cdar
B uEendl Rsicl 3d] us:RRIA cusa g &2

[Question ID = 1297][Question Description = 195_37_Gujarati_SEPT22_Q95]
1. e

[Option ID = 5185]
2. e

[Option ID = 5186]
3. Guw

[Option ID = 5187]
4 dn

[Option ID = 5188]
Topic:- 037_UGCNET_SET1_C

1) i 2gvis gizllel Vol A 24la Aoy [sey exfd) -

R0t R 2ufcael 50 RN Rurfhel &, A S onusel-Adusd cilEdis ugRrla vicda
UpThe] 8ot B, eara edihizg RAzce wBcalvus siduaic ughy &% adlsk 3.
[A3zcticus vl B 5Aa Baa wg-aie o, uel daga 5 @9y Rz A9y 3ug] [sie &
[Q82eni yo slan Medcdes] 230 wusda wicigid wg, uil wiseon [Aduenglt o
%l afll, §Aa siee el Wiy sudl sudi B Pl 2ands dedi aesddlddl weEs wesl
sl Qurdi, dyer 2mia 3 24def 24ei@s 51l eaionl Sai 243 2usel Yeudicl wery
igaiel] ud y2 Vel 208 wAEg B, ved, g edsami o 5B ayeruER, A

248 B Yoy usdia wierr woll wd) Sl &,
[Q8eie) oilgs—(A3=s0l oilfEdis uyldaie uecug 220 3u 55 87

[Question ID = 1298][Question Description = 196_37_Gujarati_SEPT22_Q96]



1. [@92e oyusiors vyl 8.

[Option ID = 5189]

2. (Aduol 2slons ught &.

w

N

[Option ID = 5190]

[AA%at 2fGcas(d w2 %32 8.

[Option ID = 5191]

[A9%e1 gld 3% Rifehel .

[Option ID = 5192]

2) w4 2iuis gizllel Yol A wig dlea [Rscy exldl -

Q20 9 2fecadd 50 @A) QurfAsl &, 4 2w cnesel-[Adusd clft@is ugRria wcia
UpTae] 28t B, carat ediiuingl QA2 ABcuRNas siauaRid] Lyl A% 2dls? &.
[A8zctcus el B 5Aa 3aa wa-aie ofll, ual uaga 53 @ His @y Juq] [l 8.
[Q8memi 1o slon Aedcles 2zt wsaa wcEd wg, uEl viiseoMl [Qduegl 2R
el ol 5lden digor 2ol Vil s2al s2qi ¥ iUl nds Goidl sesatdlell wWes wes|
2dsdt Rardi, duy 20 3 2de] 2nyeiRs sid eaond Adi 208 2onell Yeuddiol Her
ciggael] ud@ yl el 208 wEa B, e, 2wieoidd] Aerdsami o 5ol yermER, e

2nigd B yoyusaiel v yoil wd) Sl 8,

g AeduduiEi [Qdueug@s 3d) sel &2

[Question ID = 1299][Question Description = 197_37_Gujarati_SEPT22_Q97]

1.

2.

3.

4.

2ifBcaBisnd
[Option ID = 5193]
2iiBca 2196l siaualcidl

[Option ID = 5194]
2ilEraREcas

[Option ID = 5195]
ilBrzion wizaied

[Option ID = 5196]

3) = 2iguis uizllel Dol ol wlg Ao [Rscu exld -

Q2 A 2fecad 50 @A) QerfRusl 8, 4 S cnusel-Adusd clf@is ugRRia wcia
UpTae] 28t B, wcara Mediuingl QA2 2BaulNas siaaRic] gl A% 2dls? &.
[A82ctcus enial B 5Aa Ban wg-aie ofll, uel Mga 53 @ His @9y 3ug] [usie &
[@8memi e slal 2Medces 2zt wisaa v u@, uE seon [Qdueugl wRod
el ol 5Qan diget el Vil s2al s2ai B wRiul nds veidl sesatdiel] wWes wes|
2dsdt Aardi, duy 200 3 2ude] 2nyeiBs s eaoni Adi 200 2enell Yeuddiol e
cigaiel] ud@ vz el 208 2AEa B, e, 2wieeidd] Aerdsami o 5ol yermER, e

2inigd B yonusaiol v Yol wd) Sl &,

[A3at giclel Baen 2e-ale ot du 2 iz 56| 872

[Question ID = 1300][Question Description = 198_37_Gujarati_SEPT22_Q98]
1.

[QQ=iom] wajuiesil Riza aiédl,

[Option ID = 5197]

2. (A3t 5lclot [ARNzUG] ([Auela 58 &.



[Option ID = 5198]
3. Q20 gldat wizslly 28 25 8.

[Option ID = 5199]
4. (Aot 5/t Ui GliguIusl Vo 52 8.

[Option ID = 5200]

4) 24 2guis yizle W & we Aoy [sey exid) -

Q2 A 2fecad 50 @A) QerfRusl 8, 4 S cnusel-Adusd clf@is ugRRia wcia
UpTae] 28t B, wcara Mediuingl QA2 2BaulNas siaaRic] gl A% 2dls? &.
[A82ctcus enial B 5Aa Ban wg-aie ofll, uel Mga 53 @ His @9y 3ug] [usie &
[@8memi e slal 2Medces 2zt wisaa v u@, uE seon [Qdueugl wRod
el ol 5Qan diget el Vil s2al s2ai B wRiul nds veidl sesatdiel] wWes wes|
2dsdt Aardi, duy 200 3 2ude] 2nyeiBs s eaoni Adi 200 2enell Yeuddiol e
cigaiel] ud@ vz el 208 2AEa B, e, 2wieeidd] Aerdsami o 5ol yermER, e

2inigd B yonusaiol v Yol wd) Sl &,

QA6 1y olAomiel & ) usd el ?

[Question ID = 1301][Question Description = 199_37_Gujarati_SEPT22_Q99]
1. gldlon AAfedcleis wio 2yfdal wussof

[Option ID = 5201]

2. 5fdot Quaaagel uieal

[Option ID = 5202]
3. 243 2uiotiofl yeRiadial wey sigdie] uald

[Option ID = 5203]
4. 5lda] i [Agenudise

[Option ID = 5204]

5) 24 2ius gizllel Dol ol wle dloa [Rsey exfd -

Q32 =9 2fecad 56 RA) Qur@uel &, d 29 enuscl-[Adusd clftis ugivia weia
HpTho] 8ot B, eara Aedihizg [QA20e 2lRcalvus sicua@id ugl &% adls? &.
[@dzetiicus e 21 sldall 3ga wg-gie oidl, uel uagd 53 [@9lg 25 A 3ug] [Aelal &
[Q82eni yo san edcles] @30 s weigi b@, uel vistien Ryl wRoe
%l ofll, §lAa dige el Wiy sidi sadi B 2wl nds Gl esatdlell wWEs wes
sl Qurdi, dyer 2niaa 2 2idef 24ei@s 51l eaionil Bai 2042 2usell Yeuadicl wery
cigtaiel] vd@ 2 el 208 wAEa B, ved, wigeiad] Aerdsami o 5ol yermER, o

e B Yo usdic iR wal wd) Bl &,
el sjermEid weorr 3d d xa &7

[Question ID = 1302][Question Description = 200_37_Gujarati_SEPT22_Q100]
1+ slclon ezl

[Option ID = 5205]
2. gldall Mefdsdngl

[Option ID = 5206]
3. 5(dall 2iggeiciel

[Option ID = 5207]



4 gldell eisRyENiE.

[Option ID = 5208]

Topic:- GP_UGCNET_SET1_shift1_A

1) Consider the following table that shows the budget allocation (in T crore) for education in
three States P, ) and R during five years from 2018-2022. Based on the data in the table,

answer the questions 1-5 ¢

Year-wise Budeet Allocation

Year Budget Allocation (in T crore)

State P State Q State B
2018 200 270 330
20119 250 a4 374
2020 264 296 344
2021 410 346 384
2022 430 364 440

Fafafigs anlt v sam St Fod i =9f 2o18-22 1 sl 9 o9 o= P, Q it R feg & ol

Tz Frutmn (Trg §) ZaviEm T B WOl 6 ST W S w15 % 30 aned |

T wwe freim
EL] wwe et (x =g |)
= P T Q TR
2018 200 270 330
2019 250 314 374
2020 264 296 344
2021 110 346 384
2022 130 364 440

Approximately, what percent is the average budget of State Q to that of the average budget of

State P from the year 2018 to 20227

Tl 2018-2022 F Tor9 0= P % 3160 792 1 o0 TRl Wiamm 199 Q W SEa e B 7

[Question ID = 1508][Question Description = 101_00_General_9_SEPT22_Q01]

1. 118%

118 ufawm

[Option ID = 6029]
2. B5%

BS witwm

[Option ID = 6030]
3. DE%




o8 wiFam

[Option ID = 6031]
4. 102%

102 wiesE

[Option ID = 6032]

2)  (Consider the following table that shows the budget allocation (in T crore) for education in
three States P, () and R during five vears from 2018-2022. Based on the data in the table,

answer the questions 1-5 ¢

Year-wise Budeet Allocation

Year Budget Allocation (in T crore)

State P State Q State B
2018 200 270 330
2019 250 a4 374
2020 264 296 344
2021 410 346 384
2022 430 364 440

Fafefigs sl v sam St Fod ofs =af 2018-22 1 sy 4 o9 o= P, Q it R § feg & o
e HuT (T s |) S mE 81 'R § S WS 951 1-5 % I alad |

- FHE Frumm

ag wwe gt (x g H)
=P T Q 7= R
2018 200 270 330
2019 250 314 374
2020 264 296 344
2021 410 346 384
2022 130 364 440

In 2022, State Q allocated 35% of the budget for girls. In 2023, this budget allocation for givls
was proposed to be increased by 35% of the alloeation for girls in 2022. With no other change,

what i= the percent increase in budget allocation for 2023 with reference to 20227

T4 2022 |, T Q 7 wstAl o w35 gfaem g &yt fEm oed 2023 9 2022 % Fuife g=2 3
35% St TG ¥ WA AsiE & awe 7 ) fe e e oted F 0z F AR s F
g 2023 F =9z frgton 7 Teed wfem gig 87

[Question ID = 1509][Question Description = 102_00_General_9_SEPT22_Q02]

35%

35 N



[Option ID = 6033]

2. 12.95%
12.25 wlam
[Option ID = 6034]
7%
75 woEE

[Option ID = 6035]
4 15.35%

15.35 iFem

[Option ID = 6036]

3)  Consider the following table that shows the budget allocation (in T crore) for education in
three States P, ) and R during five years from 2018-2022. Based on the data in the table,

answer the questions 1-5:

Year-wise Budeet Allocation

Year Budget Allocation (in T crore)

State P State Q State B
2018 200 270 330
2019 250 ald 374
2020 264 296 344
2021 410 346 384
2022 430 364 440

Ffafan anft v em Fifed e oig =9 2018-22 &t @l 8 7 o= P, Q 3t R & T & femt
Fwz MU (TS H) S T B WR S W A 5eEl -5 % I Ay |

- FHE T

G| A i (% T °)
=P 77 Q T= R
2018 200 270 330
2019 250 314 374
2020 264 296 344
2021 110 346 384
2022 130 364 440

In 2021, State P spent three-fourth of the allocated budget for boys. From this amount, money
spent on school education and higher education of boys was in the ratio 20 : 21. How much

money was spent on higher education of boys?

T 2021 =0 P % gAT S F o0 i wwg w1 A - =9 e e 59 a8 e 20 21
F IR TSH 1 FEA fa 3N =W e W wd e e ae £ 39w e W et afwem ot
= 1



1.

[Question ID = 1510][Question Description = 103_00_General_9_SEPT22_Q03]
7 120 Crore
£ 120 %iE

[Option ID = 6037]

7 157.5 Crore

T 157.5 503

[Option ID = 6038]

3. ¥ 126 Qrore

$ 126 F18

[Option ID = 6039]

4. g84.6 Crore

T 84.6 F13
[Option ID = 6040]
4)  Consider the following table that shows the budget allocation (in T crore) for education in

three States P, () and R during five vears from 2018-2022. Based on the data in the table,

answer the questions 1-5 ¢

Year-wise Budeet Allocation

Year Budget Allocation (in T crore)

State P State Q State B
2018 200 270 330
20119 250 a4 374
2020 264 296 344
2021 410 346 384
2022 430 364 440

Fafefigs sl v sam St Fod ofs =af 2018-22 1 sy 4 o9 o= P, Q it R § feg & o
e HuT (T s |) S mE 81 'R § S WS 951 1-5 % I alad |

AW g2 i

EL] wwe TAan ( F0s 1)
T P T Q 7= R
2018 200 270 330
2019 250 314 374
2020 264 296 344
2021 110 346 384
2022 430 364 440




There is an increase in the budget allocation of State R in 2023 to the tune of 13% of the
average budget alloeation fraom 2019 to 2022, Find the increase / decrease in the allocation for
the vear 2023 from 2022,

o9 R % 20 2023 % =9z Fufm & 2019 8 2022 % ofwm a=e Fulo 3 13 v 3fg & o) =6
2022 F 2023 % ford wwe Frafoor § 9fz sween <5t =61 oa Fifag

[Question ID = 1511][Question Description = 104_00_General_9_SEPT22_Q04]
1. Decrease by € 4.385 Crare

T 4.385 F3 5

[Option ID = 6041]
2. Inerease by ¥ 4,385 Crore

T 4385 WS g
[Option ID = 6042]

3. Decrease by ¥ 8,464 Crore
T8.464 F5 5

[Option ID = 6043]
4. Inerease by T 8 464 Crore

7 8.464 T3 T

[Option ID = 6044]

5)  Consider the following table that shows the budget allocation (in T erore) for education in
three States P, () and R during five vears from 2018-202Z. Based on the data in the table,

answer the questions 1-5:

Year-wise Budeet Allocation

Year Budget Allocation (in T crore)

State P State State R
2018 200 270 330
2019 250 a4 374
2020 264 296 344
2021 410 346 384
2022 430 364 440




Faeaterfian amolt v =rm Sifes Taad oig =9 2018-22 i =@l 5 a9 o P, Q 3t R & e & o
e Fummn (Tig ) Zvian A B W 6§ Sier W s 9 1-5 % 3w A |

- FHE T

EL| wwe Tagto (z =S H)
=4 P T Q 7= R
2018 200 270 330
2019 250 314 374
2020 264 206 344
2021 410 346 384
2022 130 364 440

What 1s the average budget of State R for the years 2018-20227
61 2018-2022 % fo7 v=9 R %1 3itad =z #0187

[Question ID = 1512][Question Description = 105_00_General_9_SEPT22_Q05]
1. £370.4 Crore

T 370.4 ¥

[Option ID = 6045]
2. £310.8 Crore

T 310.8%0E

[Option ID = 6046]
3. £374.4 Crore

T 3744 %0

[Option ID = 6047]
4. ©318.2 Crore

$318. 2%
[Option ID = 6048]

Topic:- GP_UGCNET_SET1_shift1_B

1) Which of the following strategies can be used for making classroom teaching etfective?

(A) Use of suitable teaching aids

(B) Effective Communication Skills

(Y Asking students to write and memorise
() Discussion in classroom

(E) Using multimedia tools

Chaoose the correct answer from the options given below :



FeTEES T9E %7 yHEse aa & o Pt § 8 R e e B e a7

(A)  I9I FETE TR WIS 5 39E

(B) TN HE

(C)  TrnfeEi = foga it Fema 3 =1
(D) e 7 T

(E)  weeit=gn |radl =1 39

= fau mu fameat § | wel 3w+ =99 Hifa

[Question ID = 1513][Question Description = 106_00_General_9_SEPT22_Q06]
1. (A), (B} and (D) only

Faet (A), (B) 3 (D)

[Option ID = 6049]
2. (B), (C) and (E) only

F4e (B), (C) v (E)

[Option ID = 6050]
3. (A), (B), (D) and (E) only

e (A), (B), (D) 37 (E)
[Option ID = 6051]

4. (A), (B), (C) and (E) only

Fae (A), (B), (C) 3/ (E)

[Option ID = 6052]

2)  Which of the following 18 NOT a traditional role of a teacher?
Frsferitam & | =9 9t i, s=aas i e qiaE J5 87

[Question ID = 1514][Question Description = 107_00_General_9_SEPT22_Q07]

- Dissemination of knowledge

W HEW
[Option ID = 6053]
Creation of digital resources
Tefoesr gamm #1599
[Option ID = 6054]
3. Research and publications
HHIH SN TR

[Option ID = 6055]

4. Participating in FDPs and Seminars

w21, of wieEt § wm e

[Option ID = 6056]

3)  What is the sole basis of designing the curriculum?

TN ¥ WTEeTA 1 UHHTH STHT T 87

[Question ID = 1515][Question Description = 108_00_General_9_SEPT22_Q08]
1. Educational needs of the learner



T i stafies sETEEag

[Option ID = 6057]

2. Commereial needs of the institution

Heqr =i Five SAEEa
[Option ID = 6058]
3. Constitutional and developmental imperatives of the country

%91 F1 w3 R sEvaEan
[Option ID = 6059]

Socio-economic states of parents
SAfysTET i G- fFaf

[Option ID = 6060]

4.

4)  Due to which of the following disabilities, learners have difficulty in understanding concept of
quantity and fractions?

Frfafiag fea Tromansii & s Taanfilal =1 5w Si warsa ) s/ i THsH ° S 2 27

[Question ID = 1516][Question Description = 109_00_General_9_SEPT22_Q09]

1. Dyslexia

T -5 (Dyslexia)

[Option ID = 6061]

Dyspraxia
g -FEEa (Dyspraxia)
[Option ID = 6062]
3. Dysgraphia
wEA -3 (Dysgraphisa)
[Option ID = 6063]
4. Dysecaleulia
T - 3EEa (Dysealculia)

[Option ID = 6064]

5)  Which of the following is usually NOT a characteristics of Adult learner?

Frterfian 5 & F- Feman, awr Faes Tndt 8 585 2e 57

[Question ID = 1517][Question Description = 110_00_General_9_SEPT22_Q10]
1. Self-learning

-

[Option ID = 6065]
2. Rote learning

=3 (T7) wiEm

[Option ID = 6066]

3 TPime tlexibility for learning

[Option ID = 6067]



4. Social learning

TrfaE T
[Option ID = 6068]

6)  The probability of réjecting a null hypothesis when an alternative is true. is called
forelt 917 Wm0 ST A WA, 9 U e W R, 36 w0 e e A
[Question ID = 1518][Question Description = 111_00_General_9_SEPT22_Q11]
T Prabahility level
THT FL
[Option ID = 6069]
2. Pawer

Ei i
[Option ID = 6070]

3. Contra-acce ptance

Wi T
[Option ID = 6071]
4. Reality check

qurda W=

[Option ID = 6072]

7) When a researcher is interested onlv in general indications, not in data collection for

statistical tests, he may opt for
o g T A W Hebesh 0w ol 2, A f6 wiieash giEi o S (9) & aue 6, 69
% T HEAE
[Question ID = 1519][Question Description = 112_00_General_9_SEPT22_Q12]
Null hypothesis

A WA

[Option ID = 6073]
2. Quantification of data

=21 T TEmE
[Option ID = 6074]

3. Research questions

3T WA

[Option ID = 6075]
4. Research problems

1Y FHEET,

[Option ID = 6076]



8) The characteristics of experimental studies are :

(A) Absence of researcher’s bias

{(B)  Absence of conditioned environment
(C) Ewidence of causality

(b}  Control of experimental elements

(E)  Possibility of replication
Choose the eorrect answer from the options given below :
AT HeTEH1 1 e #
(A) et = q=ime i st
(B)  wispfor amarany i spqfeafa
(C)  HmviEer (SHiAfedl) S JE
(D) AT Al A

(E)  wicepia 1 Fae

= Teu v e § & R I = i
[Question ID = 1520][Question Description = 113_00_General_9_SEPT22_Q13]
1. (A), (B) and (C) only

Fa (A), (B) 387 (C)

[Option ID = 6077]

2. (B), (C) and (D) only
== (B), (0) 3 (D)
[Option ID = 6078]

3. (A), (C) and (D) only
A (A), (C) 30 (D)

[Option ID = 6079]
4. (C), (D) and (E) only

a9 (0), (D) 37 (E)

[Option ID = 6080]

9)

Identify the sequence of basie procedures to control the extraneous variables in an experiment

(A) Randomisation

(B) Elimination of spurious relations
() Matching

() Introduction of additional variahle

(E) Statistical test

Choose the correct answer from the options given below :



fordt wam & swma =@ % T g whEme % w5 B wEm i)

(A ==

(B) ST FEel T e

(©)  gaen

(D) sfafies =01 =1 &

(B)  wiferhm wiem

A1 fan e et & @ w I = A

[Question ID = 1521][Question Description = 114_00_General_9_SEPT22_Q14]
1. (A), (B). (C). (D), (E)

[Option ID = 6081]
2. (B, (C), D). (B, (A)

[Option ID = 6082]
3. (), (DY, (B), (A), (B)

[Option ID = 6083]
4 (D). (B), (A), (B), (C)

[Option ID = 6084]

List 11

Characteristic / Objectives
(I} Identifies issues in advance
(II} Focuses on current state of affairs
(III) Has focused research questions

(IV) Useful to study institutions

=10
() w2t i sifow =9 § Tam = 2
()  =dur Teafs ur eam i s 2
(II1) =i 571 FaRlga
(IV) HEni & 9o % fon, s 2l

10 Match List I with List 11 -
List |
Methad
(A) Case Study
(B) Longitudinal Study
(C) Snap shot
(D} Comparative study
Choose the corréct answer from the options given below :
-1 5 1 -1 7 faems s
ksia
fafa
(A) e =S (w7
(B) sA=d somm
(€) ¥
(D) oS e
#ra fam o el § & B 3 = = i

[Question ID = 1522][Question Description = 115_00_General_9_SEPT22_Q15]

1. (AL, (B)-(I1), (C)-(HL). (I-(IV)

[Option ID = 6085]

2. (A)-(ID), (B)-(III), (CO-(IV). (D)1

[Option ID = 6086]

3. (AN, (B)-(TV), (C)-(T), (D)-(IT)



[Option ID = 6087]
4 AV, (B)-(D, (O)-(ID), (D)(IID)

[Option ID = 6088]

) The delayed feedback in the case of intra-personal communication may happen due to

Frfafias o @ fg #nm & s ~Jafes gumo & o 20 & sfogfe & awd 21
[Question ID = 1523][Question Description = 116_00_General_9_SEPT22_Q16]

1. Express acceptance of message

HaT &1 $IE FY § F=iHEda

[Option ID = 6089]

2. Directness of communication
T i e
[Option ID = 6090]
3. (Optical illusion
=T W

[Option ID = 6091]
4. Proximation with the self

= % AT AW
[Option ID = 6092]

12)  Which of the following can be considered as personal barriers in communication?

(A) Regular message assessment
(B) Immediate feedback

()  Poor retention

(D}  Failure to respond

(E)  Trust defieit in encoder

Choose the correct answer from the options given below -
Frferias 5 | e Jem 8 e s g = a5 87
(A) Trafaa 59 g

(B)  wiw-wiafe

(C)  wHaAr SaamE

(D) G # fawem

(E)  isciga § fawam &) &

B R A R e (e e = 1 e T e B 1

[Question ID = 1524][Question Description = 117_00_General_9_SEPT22_Q17]
1. (A), (B), (C) only

A9 (A), (B), ()
[Option ID = 6093]

2. (B). (), (D) only

Fae (B), (0), (D)

[Option ID = 6094]
3. (A). (0), (D) anly



FEE (A), (O), (D)

[Option ID = 6095]
4. (C) (D), (E) only

Fa= (C). (D), (B)

[Option ID = 6096]

13) Which rules of effective presentation should be adopted by a classroom communicator?

(A)  Avoiding questions

(B) Repeated rehearsals

(Cy  Better level of comfort

(D)  Options for a satisfactory introduction

(E) Preference for long pauses

Choose the correct answer from the options given below :
Tt =hen w1 W weaf % R Pt 0 s e 7

(A) W W AfEn

(B) g g

() =fFw = Tww =

(D) HemeTE gEaE & o e

(B) e fomm =i afiamr a0

S fou o fEeTl § 8 98 3 9 =99 i

[Question ID = 1525][Question Description = 118_00_General_9_SEPT22_Q18]
- (A), (B) and (C) only

A (A), (B), (O)

[Option ID = 6097]
2. (B), (C) and (D) only

A (B), (O), (D)

[Option ID = 6098]
3. {A), (C) and (D) only

e (A), (0), (D)

[Option ID = 6099]
4. (), (D) and (E) only

e (C). (D), (B)

[Option ID = 6100]

14
) Given below are two statements :

Statement 1 : The symbolic power of communication operates through linguistie,

pictorial and aural images.

Statement 11 : Not all forms of power are associated with communiecation,

In the hight of the ahove statements, choose the correct answer from the options given below :



5 51w Fmm #

w44 (D :

HEI S AR ST W, s AN san—gadl Sl & A § 9= w9l el

Fa (I1) © 7006 & 01 &9 R & @19 geaiiag 96 6 £l

I TG F AT 4, 49 B o fEEed 6§ A6 39 % 999 e |

[Question ID = 1526][Question Description = 119_00_General_9_SEPT22_Q19]

1.

Both Statement | and Statement Il are true

sud 1 31 11241 59 8

[Option ID = 6101]

2. Both Statement | and Statement [1 are false

Fua [ w0 [12H1 w0 3

[Option ID = 6102]

Statement [ 1s true but Statement 11 15 false

F09 [0 &, @ia= 549 11 39 &

[Option ID = 6103]

Statement [ is false but Statement 11 is true

Fa9 | 3971 &, A w189 8

[Option ID = 6104]

15)

Match List [ with Last [T :

List I
Form of communication
(A} Intra-personal
{B) Inter-personal
() Team
(D) Public

List 11

Example
()  Fulfilling task needs
(I} Persuasion of large audiences
(I Judging your own actions

(IV) Establishing personal relations

Choose the correct answer from the options given below :

g1 % wra -1 +1 faem i

(A)
(B)
(©)
(0

= Tou o feeredl | @ wE 39 0 = Shifa

il

TR % Y
ST
e
Zm

ECGI

=11

EGia
() = = sTETEEmE O =
() T -2 = w0 S
(D) 37 &7 % 1 H S
(1V) Saftre g i F

[Question ID = 1527][Question Description = 120_00_General_9_SEPT22_Q20]
T (AMD. (By-(II), (C)-(III). (D)-(IV)

[Option ID = 6105]



2. (A1), (By-(I11). (Cy-(TV), (D-(1)
[Option ID = 6106]
3. (A)IV), (B)D), (C)-(IT), (D)-(I1D)

[Option ID = 6107]
4. (A)ID, (B)-(IV), (O)-), (D)-(11)

[Option ID = 6108]

16) A man reaches his destination 40 minutes late if his speed is 3 km/hr, and reaches
30 minutes before time, if his speed is 4 km/hr. Find the distance of his destination from his
starting point

afy vs =i A 1 3 km/hr B, @ 38 w99 Tt =m W 40 fee Ft 30 A vgaw R, o AR s ol
4 km/hr &, 7 98 799 F 30 e vES 95 o B WAl w4 @ 36 e #=0E o6 gl e it
[Question ID = 1528][Question Description = 121_00_General_9_SEPT22_Q21]

13 km

13 T i
[Option ID = 6109]
2. 14km

14 T 5.
[Option ID = 6110]
3 15km
15 FeL.

[Option ID = 6111]
4. 16 km

16 ..
[Option ID = 6112]
17) 1 the letters of the word ‘DELHT are coded a5 ‘C C I D I)', then in the same coding scheme,
how the word "BOMBAY” shall be coded?

Iz ‘DELHI %5 % a%e =1 %75 'C C 1 D D' &, @t 36 =ifsn g9gfa @ BOMBAY' 7= &1 %8 71
FT Y
[Question ID = 1529][Question Description = 122_00_General_9_SEPT22_Q22]
T AXMJIVS
[Option ID = 6113]
2. AMXIVS

[Option ID = 6114]
3. AMJIXEVS

[Option ID = 6115]
4 AMXJSV
[Option ID = 6116]

18)  Pind the missing term in the series given helow.
2,1,436,5 8?2
i & 8 gwen § ww 9F ® W i)
2:1,4, 3, 6,587

[Question ID = 1530][Question Description = 123_00_General_9_SEPT22_Q23]



[Option ID = 6117]
2. 9

[Option ID = 6118]
3. 08

[Option ID = 6119]

4.1,

[Option ID = 6120]

19)  In u class of 74 students, Raman's rank is 19% from the battom. What is his rank from the
top?

73 BE1 i e H, T ] O AT H 19FT B 0 36 T A B v
[Question ID = 1531][Question Description = 124_00_General_9_SEPT22_Q24]
1. 54

[Option ID = 6121]
2. By

[Option ID = 6122]
3. _55

[Option ID = 6123]
4. 58

[Option ID = 6124]

20) A person sold a music system to another person at 20% gain and the second person sold it to
third person at 40% gain. If the third person paid £ 10,500 for the music system, what amount
did the 1* person pay for the music system?
wF =l 4 o Hfaw fwen #1 g s F120% 5w S sl ge =i 3 38 de s o
W w9 7 3R @ s T afes B F 51 10,500 3= R, @ e (1) =56 3 S
forezn ¥ Tom Toeeft et o ofi 7
[Question ID = 1532][Question Description = 125_00_General_9_SEPT22_Q25]
1. 6,000

[Option ID = 6125]
2. 76,250

[Option ID = 6126]
3. z7.000

[Option ID = 6127]
4. ¥T6.500

[Option ID = 6128]

21) If the statement “All women are honest” is given as true, what could be immediately inferred

from the following?

(A) ‘No women are honest’ 1s false

(B) ‘Some women are not honest’ 1s true
() ‘Bome women are not honest' 18 false
Iy ‘Bome women are honest’ 1s true

Choose the correct answer from the options given below :



af% s el wfeed fwmen £ A fa o R, @ Fefaies 9 5 e s w5 acse sEEe e
o w2

(A) S Hieen SHHER T & ST 2

(B) ‘g witemd PR 7E & e #

(C) = wigemd sHFEN 96 & 3509 2

D)  Fo HiEEW HEGE E H R

Ao fom o Torwenl & & O I =9 i

[Question ID = 1533][Question Description = 126_00_General_9_SEPT22_Q26]
1. (A) and (B) only

FA (A) 3 (B)
[Option ID = 6129]
2. (A). (B) and (D) only
Fae (A), (B) 0 (D)

[Option ID = 6130]
3. {A), (C) and (D) only

F49 (A), (C) 31 (D)
[Option ID = 6131]
4. (A), (B) and (C) only
=4 (A), (B) 3 (C)
[Option ID = 6132]
22) “Killing is wrong. Ahartion is killing. Therefore abortion is wrong”. Which of the following
fallacy is committed in this argument?

o] T 2| AT BeT Bl S0 THUTE e #) 56 a5 B AEleiEd § 8 S 8T geiHe R v et

[Question ID = 1534][Question Description = 127_00_General_9_SEPT22_Q27]

1. Fallacy of Appeal to Inappropriate Authority

FFIfaa Wil & T S w5 T
[Option ID = 6133]

2. Ad Hominem Fallacy

US-FHHR BTy

[Option ID = 6134]
3. Fallacy of Appeal to Emotion

WEATEHS ST T BT

[Option ID = 6135]
4. Fallaey of Equivoeation

Tewmderan 1 gearam
[Option ID = 6136]

23)  Insguare of opposition which one of the following is contradictory of ‘All S is P'?



il 3 T # Frferfin # & % W S PR w0 wnf 2

[Question ID = 1535][Question Description = 128_00_General_9_SEPT22_Q28]

1.

2.

3.

4.

AllSisQ

wsSQ#

[Option ID = 6137]

5

ome S 18 not P

T8 S, P ®

[Option ID = 6138]
NoSis P

wis W S, PAdi 2

[Option ID = 6139]

Some Sisg P

Fo S, PR

[Option ID = 6140]

24)

Which of the following are admitted by the Naiyvayikas (Indian Logicians) as kinds of
Inferences?

(A) Inference of the effect from the cause

(B} Inference of the cause from the effect

(C)  Inference from knowledge of similarity between two kinds of objects

(D)  Inference from observation for general inseparability

Choose the correct ansawer from the options given below -

ST F W % w9 7 Tttt 5 8@ G sl (swd e 3 = e

(A)
(B)
(C)

(o

EiE]

HAV H UATE H S
THE H FA H FIAA
7 W I FEg e & # @Al F 79 # FHEE
AW SAETEAl &, FEEEA d & A AW

oo o Tepmet & & e v = =g i

[Question ID = 1536][Question Description = 129_00_General_9_SEPT22_Q29]

1.

2.

3.

(A). (B) and (C) only

A (A), (B), (O)

[Option ID = 6141]

(A), (B) and (D) only

Fad (A), (B), (D)

[Option ID = 6142]
{A) and (B) only

4 (A), (B)



[Option ID = 6143]
4. (A)and (D) only

F7 (A), (D)

[Option ID = 6144]

25) Given below are two statements @
Statement [ ¢ Accarding to Naiyayikas (Indian Logicians), in inference for others, five
steps are required.
Statement [1 . According to Naiyiyikas, in inference for oneself, only three steps are
required.
In the light of the above statements, choose the correct answer from the options given below :
EiclaEchcue i 8

Fe (1) . il (WA TaTst) F sEEn, o F o sEee B O i et

e (1) Fial % 380 JAH SIAH % o Faa §F o sl §)

I FGT o AEE H, G 90 e faed § H g 3 % =99 i |

[Question ID = 1537][Question Description = 130_00_General_9_SEPT22_Q30]

1. Both Statement | and Statement 11 are true
w97 | o1 1151 o9 &
[Option ID = 6145]
2. Both Statement I and Statement 1 are false
o | =i 11 5H7 360 &
[Option ID = 6146]
3. Statement lis true but Statement 11 is false
Fa9 [ 900 8, W w9 1] 5|0 8
[Option ID = 6147]
4. Statement [ is false but Statement Il is true
Fa | wEe ®, S w0 1o 8
[Option ID = 6148]

26) (iven below are two statements: One is labelled as Assertion A and the other is labelled as
Reazon R.

Assertion (A) ;. Massive Open Online Courses (MOOC) are fast gaining popularity among
students and working professionals across the world.
Reasons (R): MOOCs help them study at their own convenience and delivery of quality

education is loeation specific.

In the light of the above statements, choose the correct answer from the options given below:



i 2t w9 fqu e # ; uw AfEed (Assertion (A) F %9 § fafsd # @t 790 39% F09 (Reason (R))
FEgH

AR (A) iR S e R (UL ) e o g T s e geen E
it Wi | STRGEAT WTH A 99 B

F7 (R) : L, 3 A gRYEER oA w0 § el YEE R 8 S e
Toian & werrhi safoafa-fafm w621

I7IE e F e 8§, 99 R e 8 8 wel 3w 3w 9 it

[Question ID = 1538][Question Description = 131_00_General_9_SEPT22_Q31]

1 Bath (A) and (R) are true and (R) is the correct explanation of (A)

(A) 3 (R) 271 |79 # 317 (R), (A) 1 571 == &

[Option ID = 6149]
2.  Both {A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) i (R) 21 509 &, =it (R), (A) i o = 16 8
[Option ID = 6150]
3. (A)is true but (R) is false
(A)|eT &, =i (R) A6 &

[Option ID = 6151]
4. (A)is false but (R) is true

(A) 55 &, wfF (R) o9 &
[Option ID = 6152]
27) On a laptop/desktop computer, which of the following compenents (A — () take care of
(i) computing, (ii) storing data temporarily, and (iii) storing data permanently in that order?
(A) RAM
(B) Hard Disk Drive
(Cy CPU

Choose the correct answer from the options given below :

UF TE [ SERe #rge W feEfatan § @ #6E gew (A — O) () T, (i) 529 % awE $ 9
YT, S (i) S21 % T 59 9 QS0 % ®H A w0 W 67

(A) W (RAM)
(B) % feem
(€ g

B R AU e T e e e R Leea R R

[Question ID = 1539][Question Description = 132_00_General_9_SEPT22_Q32]
1.4C), (B), (A)

[Option ID = 6153]
2. {A), (C). (B)

[Option ID = 6154]



3. (B). (A), (O)

[Option ID = 6155]
4. {C) (A). (B)

[Option ID = 6156]

28 A )
) In the context of computer networking, what protocol 18 used to turn names, such as

www.abe.edu, into [P addresses?
FEE JeAET o HER H AW A8 www.abeedu, F 3. U5 7 55ed () % v G dieewe w
ECRILR ez T L
[Question ID = 1540][Question Description = 133_00_General_9_SEPT22_Q33]
1. HTTP

[Option ID = 6157]
2. DNS8

[Option ID = 6158]
3. SMTP

[Option ID = 6159]
4. 88H
[Option ID = 6160]

29) In IPv6, an address 1s given by eight 16-bit numbers usually written in hexadecimal. For

example; here is an [P address :
3221 : IDES: CAI4: AD1F: 1111:1111:1111:1111
How many unique addresses does IPV6 support overall?

s A6 (IPyE) § U 1S =18 | 6-Ta¢ T § 8 a9 9 seEnsime § oy sy 21 ssmond, aw
uE AR,
3221 :IDES: CAI4: ADIF: 1111:1111:1111:1111
s =6 T w9 A R e W e w R
[Question ID = 1541][Question Description = 134_00_General_9_SEPT22_Q34]
1. 216
[Option ID = 6161]
2. 264
[Option ID = 6162]
3 65536°
[Option ID = 6163]
4 655367

[Option ID = 6164]

30) In the history of computing, Moore's Law says that the number of Integrated Circuit (IC)
chips in a computer doubles every 2 years, which implies that computers become twice as
powerful every 2 years. According to Moore's Law, 10 vears from now, computers will be

times as powerful as they are now.



Feogien o sfae 4 @ F Ry F sEn ok e | seies wike (sEd.) T fiven s 2 94§
Tt 7 il 2, T a2 T weoge wew 2 ad W e afweet @ 9w #) S Faw S s
4 # 10 T4 F WE TS TS I qe § T HEH F AT

[Question ID = 1542][Question Description = 135_00_General_9_SEPT22_Q35]
1. 4

[Option ID = 6165]
2. g

[Option ID = 6166]
3. lﬁ

[Option ID = 6167]
4. 32

[Option ID = 6168]

31) (arhon monoxide pollution may cause loss of consciousness or death in the exposed
individual. Far such an event to occur, the likely minimum percentage saturation level of
carboxyhaemoglobin in the human blood would be :

HEA AAAEES YA & FAV IR A d=m @ W 5w B i we % fom owee ow A
HTRHIR IS o e S i =HaH e Wieee aAr Siee?

[Question ID = 1543][Question Description = 136_00_General_9_SEPT22_Q36]
1. &%

[Option ID = 6169]

2. 15%

[Option ID = 6170]

3 a0n

[Option ID = 6171]
4. Gmlh

[Option ID = 6172]

32) a typieal urbhan site, the ground level ozone concentration would be maximum at what time
of the dav?

Feredt sl sl T W AT A T Fiegal (59 & (68 HET W S HEmaE g T

[Question ID = 1544][Question Description = 137_00_General_9_SEPT22_Q37]
1. Morning
e
[Option ID = 6173]
2. Afternoon

FHATET

[Option ID = 6174]
3. Evening
|
[Option ID = 6175]
4. Night
Td

[Option ID = 6176]



33) Identify the biodiversity hot-spot regions from the following :

(A) Western Ghats
(B)  Central India
(C)  Sundaland

(D) Indo-Burma

Choose the correct answer from the options given below :

frerme 4 Fu-Tafaum & ge—ez &9 1 gE=

(A)  dfF=sft @

(B) T |

(Cy Hswivs

(D) wrE-ami

g fau o Tameat § A W91 39 o =69 a0

[Question ID = 1545][Question Description = 138_00_General_9_SEPT22_Q38]
1. (A)and (B) only

FaE (A) I (B)

[Option ID = 6177]
2. (B)and (C) anly

Faa (B) 3% (C)

[Option ID = 6178]
3. (A), (C) and (D) only

== (A), (C) #Hi (D)

[Option ID = 6179]
4. (A), (B)yand (D) only

Fad (A), (B) W (D)

[Option ID = 6180]

34) Given below are two statements :

Statement [ . National Action Plan on Climate Change was launched in 2014.

Statement [ . National Mission for Smart Cities is one of the missions under the
National Action Plan an Climate Change.

In the light of the above statements, choose the correct answer from the options given below :

et 21w fag o E

w9 (I):  Fead iada W UgE i A F SARE 2014 8§ 89901

Fud (1) . e TiEna . W AT F S mIE A A R wee e ade faee 2

IR A o AT °, A9 90 0 el O # 5E I 1 =991 e |



[Question ID = 1546][Question Description = 139_00_General_9_SEPT22_Q39]
1. Both Statement | and Statement Il are true

Fu [=n 5T a9 8
[Option ID = 6181]
2.  Both Statement I and Statement 11 are false
Fo4 [ wn [1 591 #@eT &

[Option ID = 6182]
3.  Statement | is true but Statement 1 is falde

FHeA [ 579 8, o #2011 sy #

[Option ID = 6183]
4. Statement [ is false but Statement II is true

T | wH &, o A a5 2

[Option ID = 6184]

35)  Match List 1 with List T :
List | Last I
Phenomena Impacts
(A Jhum Cultivation (I) Acid rain
(B) Air Pollution (II) Eutrophication
(C)y Water Pollution (III) Heat Island Formation
(DY  Urbanization (IV) Deforestation
Choose the correct answer from the options given below -
F=-1 % 7 w1 = e e,
-1 -
e B
(&) TR O
(B) =/ 9gEm (I) ZEIThsr
(€)= g (II1) =it £ a7 (F2 sAGes wHeE)
(D) = (V) T
= Tou o feredi O 4 wF 390 9 959 i

[Question ID = 1547][Question Description = 140_00_General_9_SEPT22_Q40]
T (A0, (B)-(IT), (O)-(I1D), (D)-(IV)

[Option ID = 6185]
2. (A)IV), (B)-(I1). (C)-(IIL), (D)~(T)

[Option ID = 6186]
3. (A)-(IV), (B)-(T). (C)-(IT), (D)-(11L)

[Option ID = 6187]
4 (AN, (By-(D, (O)-(HID), (D)-(IV)

[Option ID = 6188]



36)  Match List 1 with List II :

List [ List 11
(A) Patanjali (I} Ashtadhvawyi
(B) Chanakya {ID: Yoga Sutra
(C) Panini (III)y Medical treatise
Dy Charaka (IV) Arthashastra

Choose the correct answer from the options given below :

get-1 % = gei-11 = faem Fifag

il 11
(A) TSl () ayesrd
(B) == (I =z
() e (I) wfswe fzga
(D) =7 (IV) s
A fou o el 6 & w1 s w0 w5 Hifa

[Question ID = 1548][Question Description = 141_00_General_9_SEPT22_Q41]
- (A)D), (B)-(IV), (C)-(ID), (D)-(I1D)

[Option ID = 6189]
2. (A)ID), (B)-(IV), (C)-(I1I), (D)-(1)

[Option ID = 6190]
3. (A)-(ID), (B)-(IV), (C)-(T), (D)-(ITD)

[Option ID = 6191]
A (A, (B)-(IT), (C)-(I1T), (D)-(IV)

[Option ID = 6192]
37) Given below are two statements :

Statement [ :  The Indian Parliamentary Committee on Value Education in February
1999 identified five core Universal Values as truth; righteous conduct,

peace, love and non-violence.

Statement 11 :  There values are derived from various sources of Indian tradition and
culture,

In the light of the above statements, choose the correct answer from the options given below :
0 %) Fae fqu o

o (1) :  Weawe e o g wwdty @udm w5 B, 1999 § 9/ ga St geat |90,
T A, it I e s F = § aw=m 6

Fg (1) . 59 H{eal 1 ARATE WA 31 HEH o diae @ | wn G )

IR FE F AETE 4, 919 B 0w FEen 1§ 98 39 F 997 e, |

[Question ID = 1549][Question Description = 142_00_General_9_SEPT22_Q42]
1. Both Statement [ and Statement 1T are true



Foq [ 30 [ 2ET 59 &

[Option ID = 6193]

2. Both Statement 1 and Statement 11 are false

Fag | 5w [l 591 w9 7

[Option ID = 6194]

3. Statement | is true but Statement 11 is false

w94 | 9ea &, oA #oF [l 3w B

[Option ID = 6195]

4. Statement | is false but Statement 11 is true

1.

Foe [ sae 2, S e [ 2
[Option ID = 6196]
38) Who described the Education Despatch of 1854 as the “Magna Carta of Indian Education” in
his work, “A History of Missions in India™

Frferfas # & foem o= #fa v T s famm == sfer 9 1854 % foen Fran (Teet) =1 wmeda favem
F Hm e & =9 F 90 Tt

[Question ID = 1550][Question Description = 143_00_General_9_SEPT22_Q43]
1. Richter

5. frawer

[Option ID = 6197]

2. M.R. Paranjpe

UH .3, T

[Option ID = 6198]

3. Lord Ellenborough

SIERUGLED|

[Option ID = 6199]

4. Sir Charles Wood

= =T 38

[Option ID = 6200]

39) Which of the following were a part of the ancient system of education?

(A) Vedas

(B) Brahmansas
(C)y  Upanishads
Dy Dharmasutras

Choose the correct answer from the options given below :

Frforfiaa § & #a w=i fgn g % sma?

(A) a%

(B) =&
(C) wifmg
D) =

e fou nu fomedl § & we S @ =ae i

[Question ID = 1551][Question Description = 144_00_General_9_SEPT22_Q44]



1. {A) and (C) only
FAE (A) HR(C)

[Option ID = 6201]
2. (A)and (D) only

Fae (A) 317 (D)

[Option ID = 6202]
3. {A), (C) and (D) anly

FaE (A), (0) 3 (D)

[Option ID = 6203]
(A). (B), (C) and (D)

>

(A), (B), (O =i (D)

[Option ID = 6204]

40) Given below are two statements: One is labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A):  As per National Knowledge Commision report, the number of engineering
institutions in India is more than 1,500, but there is regional imbalance in

their distribution in the country.
Reasons (R) : A major reason for this is entry of Private (aided as well as self financing)

institutions.

In the light of the above statements, choose the correct answer from the options given below:

#= 71 FoA fau o # © uw aifiEes (Assertion (A)) % ®9 ¥ [fgs # a1 250 3856 F0 (Reason (R))

FOH

2

sfiw (A) TEA T A S O S AT 9§ g A SeaE shi 5 1,500 # w6 §
HiEA 291 | 39 e # i swEee R

F (R) : T UF ToE W I 8§ G (FEme-wn e m=-famein) sen w6
T A 2

I FGH F e 5, A o 7w e § & ae 3w I s 99 it |
[Question ID = 1552][Question Description = 145_00_General_9_SEPT22_Q45]
1 Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(A) 3 (R) ZHT @eg £ oft (R), (A) i ot = &
[Option ID = 6205]
2. Both (A) and (R) are true but (R) 15 NOT the correet explanation of (A)
(A) 31 (R) ZFT &= 7, & (R), (A) 3 =#1 samen 76 2

[Option ID = 6206]
3. (A)is true but (R) is false

(A) 5T &, A (R) A 3979 2

[Option ID = 6207]
4. (A) is false but (R) is true

(A) e &, e (R) a7 #



[Option ID = 6208]

Topic:- GP_UGCNET_SET1_shift1_C

1)

Read the following passage and answer questions from 46-50 ;

The medium of public discussion 15 unique and without historical prototypes. Previously the
estates of religion and nobility had negotiated contracts with their princes in which claims to
power were defined on a case-by-case basizs, As we know, this development followed a
different course in England, where princely power was relativised through Parliament, more
than on the continent. The third estate of nobility then broke with this mode of equalizing
power, for it could no longer estahlish itself as a ruling estate. Give a commereial economy, a
division of authority accomplished through differentiation of the rights of those possessing
feudal authority, hiberties belonging to the estates, was no longer possible-the power under
private law of disposition of capitalist property is non-political, The bourgeois are private
persons; as such, do not rule, Thus their claims to power in opposition to public power are
direcied not against a concentration of authority that should be divided but rather against the
principle of established authority. The principle of control, namely publicness. that the
bourgeois public opposes to the principle of established authority, aims at a transformation of
authority as such. not merely the exchange on basis of legitimation of another. In the first
modern constitutions the sections histing basic rights provide an image of the liberal model of
public sphere; they guarantee society as a sphere of private autonomy; opposite it stands a
public power limited to a few functions.

Fraferfias ey i 92 @ wgE G A6 H 50 65 o 3w A

Al = H AW 3R S e ofaetas aforen w3 R e g6 v FefE 6 v s
T TA-HEATAAT B S 7 2, T ame-w e § v w e fonfa fenom g S e e
FEA 8, 38 U ¥ W $eis A us v A s wgE fBen e, e 26 ¥ avem & e A ufe
T HETE T § Wl st Aviea s | Fera i dEd qwi aww g 6w | sem
7l WE FiH 9€ W FIFE UH FgEGE GO0 F w9 4 ¥m wd o wfim a8 w0 oawd o) i
Sy 1 ST W vEd g e S % st & R % wmem | Ry e s aeam
5 it 1 =, 9= w9 A dve T 9 w=iE S =i F v F B R # sl aie
-t B &1 Feen 1 % = T =t w2 R o S uF wee @ wee A ) e, e
nitw & v, 39 o % 70 Fwm F 79, afor wnfm o+ fogm & fawg ol &) FEm s
fagia, Fa-aimmma, faw g =0 waifta w0, F 3 g =1 e =@ 2, T w2 5w
UF-ZA & A F U W A HFE-TEH T, e T F WG FA F A | W g
afagm § qftag qo sfuwnl & g aEab & F 350 dfoa §i o ol wEE e # c 3 e e
& UF &7 % FYH g F UL 20 8 ; ok e 39 FE a% difae adete o @8l 2

Historically, the claims to power were decided on the basis of

tTeTis =y 4 o snew w1 gw w gE Ryl R g0

[Question ID = 1553][Question Description = 146_00_General_9_SEPT22_Q46]
1.

2.

3.

Publie discussion

FEwEE ==

[Option ID = 6209]

Historieal prototypes

e ey

[Option ID = 6210]

Individual preference



Epit e npn

[Option ID = 6211]

4. Religious affiliations

2)

T HEE

[Option ID = 6212]

Read the following passage and answer questions from 46-5() ;

The medium of public discussion 15 unique and without historical prototypes. Previously the
estates of religion and nobility had negotiated contracts with their princes in which claims to
power were defined on a case-by-case basiz. As we know, this development followed a
different course in England, where princely power was relativised through Parliament, maore
than on the continent. The third estate of nobility then broke with this mode of equalizing
power, far it could no longer éstablish itself as a ruling estate. Give a commereial economy, a
division of authority accomplished through differentiation of the mghts of those possessing
feudal authority, liberties belonging to the estates, was no longer possible-the power under
private law of disposition of eapitalist property is non-political, The bourgeois are private
persons; as such, do not rule, Thus their claims to power in opposition to public power are
directed not against a concentration of authority that should be divided but rather against the
principle of established authority. The principle of control, namely publicness. that the
bourgeois public opposes to the principle of established authority, aims at a transformation of
authority as such. not merely the exchange on basis of legitimation of another. In the first
modern constitutions the sections histing basic rights provide an image of the liberal model of
public sphere; they guarantee society as a sphere of private autonomy; opposite it stands a
public power limited to a few tunctions.

Toaferftgs T 9% W WA GE AB S 50O TF F I 2au)

AT = F AW SR W e et e = 8 R e g v Feimm f I s
T TA-HEATAA] & B A" g ¥, Ty ame-w e § wfw w 9@ ofrafie R 9 S e e
WA F, 78 HEABRE % W% STEIS § U [9E W7 o SE T T, e 66E o 5T § e s e
T WA T H o I AT S | e i dwd i a6 e | sem
7l M FE 98 W AT T GENE AU 6 B9 A S w2 W wia @ a wedl ) il
sy &1 9§ vEd g WA g % i & Reder % mem 8w ey e s S sean
& i i aEa, w= 9 f g T 6 s S =i B ot S B #eE & st o
-Traifa B &1 FA W F A A = w6 £ N 3 U Y 6 WEA 96 # | gl dEae
aife & faufia, 39% o % 26 S % 98, dick Sgd o9 % g & fgeg wlke §) HEEm .
fagi, SH-wrmmEm, faww g 57w v 5, F 5 fagn @ faw w0 g, e w2 w5
UH-gEL & T F UH W AT RIS TE, S A B S F F A 2| 996 g
afaar § g qm #fownl & U aEes &6 F 370 wieee 6 vk o veE ww # 3 Bl s
& UF 47 F T H GNS F TRE 4 @ ; s A 9 S ad dia At g @8l 2l

The princely power in England was reduced by

G R B o ol L e o B o e o TR ey [ o o e i
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1.

2.

Voluntary action

ifeps Fiam

[Option ID = 6213]

The nobility



Feld]

[Option ID = 6214]

3. The feudal authority

1.

AT A
[Option ID = 6215]

Parliament
ane

[Option ID = 6216]

3)

Read the following passage and answer questions from 46-50 ;

The medium of public discussion is unique and without historical prototypes. Previously the
estates of religion and nobility had negotiated contracts with their princes in which claims to
power were defined on a case-by-case basis. As we know, this development followed a
different course in England, where princely power was relativised through Parliament, more
than on the continent. The third estate of nobility then broke with this mode of équalizing
power, for it could no longer establish itself as a ruling estate. Give a commereial economy, a
division of authority accomplished through differentiation of the rights of those possessing
feudal authority, liberties belonging to the estates, was no longer possible-the power under
private law of disposition of capitalist property is non-political. The bourgeois are private
persons; as such, do not rule, Thus their claims to power in opposition to public power are
directed not against a concentration of authority that should be divided but rather against the
principle of established authority. The principle of control, namely publicness, that the
bourgeois public opposes to the principle of established authority, aims at a transformation of
authority as such. not merely the exchange on basis of legitimation of another. In the first
modern constitutions the sections histing basic rights provide an image of the liberal model of

public sphere; they guarantee society as a sphere of private autonomy:; opposite it stands a

puhlic power limited to a few functions.
Fr=tferfigs T 1 Te S wEE e A6 H 50§ 5 39 20

aEEAE T AT 3R S o Ulaeie AR R 8| SHE Ye 99 U9 Somar i =i s
I TA-HEATHIAT By Y gu 2, T wwe-w e § o w @ ofonfie R ) S e
FAA &, 55 HIAEE % W3 $Teis ° U (5 Hp o SE Gy e, 96 962 4 anen § aw 6 afe #
T FEIGT qEE1 W OFA AT ArdiaT Sl TAr| FEiA 6 G e S i 99 T 8 e
T ME I 9R A ATE UF GEGE A0 F ' A o w0 f i a8 e med o) Sl
ST 1 O ¥ vEd g WA S % wiuwn & fuder % wem | @ e e s S sean
T i 6 EeE, W i GEE T o =i e Enee A v+ R A ® s wiw
-t Bt &1 geen 9 & o e = 2 # o 3 oF 9Ee @ wEE A9 e | sk, aEeEs
7% % faofm, =% o % =0 S & 9, afer wim o & g % g aftm 8 S .
fazm, Sa-smmm, TR 990 sam wnfin &, F 8 fGgm = oy = 2, T s 5=
UH-ZEL F AAE F OF FE A HEE-TEF TE, A T F G0 FE F A R g9 s
Afgm § gty g0 SYEA % U TEaE @9 F 398 goge 6 v o veE o 8 c 3 B e
F UF &7 F FYH G F ML 20 7 ; T e F A a% 160 aeaE uE @9 8l

In the eco-system of commercial economy, the power of property disposition has become

anforfae spdeaagar & arfiEitEn § siei 5 G & oot 9w @ e
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Controlled



2.

3.

4.

4)

Fafim

[Option ID = 6217]

Public

ATEwEE

[Option ID = 6218]

Paolitical

TS

[Option ID = 6219]

Non-political

LIeEIECTE

[Option ID = 6220]

Read the following passage and answer questions from 46-5() ;

The medium of public discussion 15 unique and without historical prototypes. Previously the
estates of religion and nobility had negotiated contracts with their princes in which claims to
power were defined on a case-by-case basis. As we know, this development followed a
different coursze in England, where princely power was relativised through Parliament, maore
than on the continent. The third estate of nobility then broke with this mode of equalizing
power, for it could no longer éstahlish itself as a ruling estate. Give a commereial economy, a
division of authority accomplished through differentiation of the mghts of those possessing
feudal authority, liberties belonging to the estates, was no longer possible-the power under
private law of disposition of capitalist property is non-political. The bourgenis are private
persons; as such, do not rule. Thus their claims to power in opposition to public power are
directed not against a concentration of authority that should be divided but rather against the
principle of established authority. The principle of control, namely publicness, that the
bourgeois public opposes to the principle of established authority, aims at a transformation of
authority as such. not merely the exchange on basis of legitimation of another. In the first
modern constitutions the sections histing basic rights provide an image of the liberal model of
public sphere; they guarantee society as a sphere of private autonomy; opposite it stands a

public power limited to a few functions.

Frferfias e 1 9% S WA S0 46§ 50 7% % I A

AT = H AW SR S e ofaetas sfiren W R R Tee g e Fefe i S s
T TR F FY sy 7 2, T ame-w e § wfw w e fonfa fenom ) S e
T 8, 38 U % W1 $EIE A U v A s S Hen e, e 26E % aven 8 e 4 afe 5
T HETE GO ¥ FE A AR wE | Fea 6 e qwi awwn o $ 5w T a smm
7l WE FiH 9w AW FTF UF gEGE G0 F w9 A wm w A e 9@ w0 awd ) St
sy 1 ST W vEd g wed g % st & R % wem | @ e e s aeam
5 it 1 e, 9= w0 dvE T 9 wiE S S Fwge F B R # s wie
-t B 21 Tesn = % = Tl =t E R o 3 uF wew @ wee ) st aEeiE
nitw & fauia, 39 o % 7@ FHwm F 4, afor wfe o+ foge & g ol 21 FEm =
fazia, Sa-cirmmma, faas g6en @0 wiya 50, F 39 fagn #1 Gy =0 2, e s S
UH-ZA = A F O HGW A AGE-TEH T, ek a9 F B FE H O | W9 sgEs
afagr # qftag qm AUFA1 & U WES G & 351 Wi0gE S Uk 3 ¥aH s 8 3 Bl s
% UF &7 % FYH g F AL 20 @ ; s e 5 FE A% Al aEes o @8l 2

The claims of hourgeois to power are intended against



FAH T F A7 7 7E HES g 3o A £
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1.

2.

3.

4.

5)

The rule of law

FHFH I IEA

[Option ID = 6221]

The differentiation of power

e =1 TaHE

[Option ID = 6222]

The coneentration of power

I T

[Option ID = 6223]

The established authority

w9

[Option ID = 6224]

Read the following passage and answer questions from 46-50 ;

The medium of public discussion is unique and without historical prototypes. Previously the
estates of religion and nobility had negotiated contracts with their princes in which claims to
power were defined on a case-by-case basis. As we know, this development followed a
different course in England, where princely power was relativised through Parliament, more
than on the continent. The third estate of nobility then broke with this mode of équalizing
power, for it could no longer establish itself as a ruling estate. Give a commereial economy, a
division of authority accomplished through differentiation of the rghts of those possessing
feudal authority, liberties belonging to the estates, was no longer possible-the power under
private law of disposition of capitalist property is non-political. The bourgeois are private
persons; as such, do not rule, Thus their claims to power in opposition to public power are
directed not against a concentration of authority that should be divided but rather against the
principle of established authority. The principle of control, namely publicness. that the
bourgeois public opposes to the principle of established authority, aims at a transformation of
authority as such. not merely the exchange on basis of legitimation of another. In the first
modern constitutions the sections histing basic rights provide an image of the liberal model of
public sphere; they guarantee society as a sphere of private autonomy:; opposite it stands a
puhlic power limited to a few functions.



fferfian Ty i 9€ S WA HEA 468 50 7% % I S

At == ATE 3FE S fEn OfETE AEEY W R W R g vH geiem f S s
T TA-HENAA A A 70 4, o e A § wfw woas sfenfie fRemw g S R e
W ¥, T8 HSABRE % WIE STEIS H U [WE HU % SE e T, e 66E 4 5reAN § e ) e
T FEIE G W Al AU i S T Feliaan o e i awwn i 65w J sem
7l W ik 9F A9 AE g e % w9 A wm i i el @ wed 9 i
Sy F A TEA w A A % S & e % we | g T e % e
5 it 1 e, 9= F 0 wE T 9 wiE S S F v F B R # s wie
T-wrsfifeh €1 &1 g W % @ Gl AT g § S S o S W WA A | i, S
ot & faulin, 39 oM % 50 FEwm & 76, afcn o o % fgm ® g e 2w w
fogia, Sa-cmpm, Tamr gdan 59w s 5, % 5 fagm % f = 8, e
TH-gE S F T AW A ARG T, Wi w1 1 SGA HE A 81 W9 s
S e e R T T A w e e o s A e e A T e S
% U AF F FYH G FI W A0 7 ; TEE o @ FE O dien s i w6 8l

The passage focusses on which of the following?
T T et w8 e w55 2
[Question ID = 1557][Question Description = 150_00_General_9_SEPT22_Q50]
1. Liberal public sphere
W A

[Option ID = 6225]
2. Limiting public power

TIEAE T 5 AT
[Option ID = 6226]

Encouraging the hourgeois public

ST T Hl WiediEd FA

[Option ID = 6227]
4. Redefining the principle of control

foprm o frrgr 71 Tt T

[Option ID = 6228]






